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When Rav Dimi came he — 912 779577 592 KT JN%D 97K 9297 29 XX 9D
said; according to the one who said, knowledge is required, etc.

OVERVIEW

m*7 27 stated that according to the 7"» that an *XT) WX requires a 77nn2 7¥°7° in
order that it should be 992, the ruling will be that if one is 7312 a 7910 nOW five
times, he is 2°°11 five MwR. Our MooIN discusses the ramifications of s'7"7 ruling.

= Y192 99917 PNYT RPYY NNYN
At this point we assume that 7"7 was discussing that there was a 7¥37° (between

each nx"2) -
= 30oWYNN U5 INNYD 199N 21990 NNMHNT 11D NPONN 1YWIPY WD II9ONT 9IND)

And furthermore 7" is ruling that even according to %''9 the 7v°7 is npn» and
he is 211 five MR, since the 7¥°7 causes the 7995, and he is MAWK 71 21 even if

the My took place after all the five acts of 7xa -
= 59NP NYIDN INNRIT IO 915 NNV Y9N 7299 291D

So therefore ax challenged 7"9, saying, but a nRwn, etc. also requires a 7y°7
772102 and nevertheless 7" maintains that owyni IR 79°7° is not NpYin’°, and the

X713 concluded that 7"7 meant after the setting aside of the owx.
= 7Y SPa HNINT INNT VPRI SXIPIN MDD 1357 297 PNN 13929 9N

And the "4 states that 71 argues with X?1w; we know this since 7" mentioned

his ruling (only) according to the one who requires a 71102 777 for an *X71 oW -
= DYWUYNN YD ANNRDT NYWIDND IMN NIYNY KD NPT s¥a NDT INIPY DAN ynvun

! Even though that by n"w owX one is 2»n for 7 as well as for AW, so one may have thought that my>7 are
irrelevant, nevertheless (2°n1°aw) N7 are MpPHnn even according to "1 who minimizes the capacity of nR>w nmy 7
Twyna to be mponn, nevertheless the o nraw My 7 by an n"w awk are Mphnn (see footnote # 3).
2 We are now assuming that 77102 797 *¥2 "7 QWR, so the Y7 is N3 the 7793,
3 This means he was 9912 the 1"w five times A3, and afterwards he became aware of each nX°3, one after the other.
7"9 rules that in such a case he is M»wX 71 21 (perhaps only according to 31 " [see 2712R *10 and footnote # 1]).
4 Why therefore should an n"w owx be different from a nXun j27p, where DWYnT XYY MY are not MPoMA
according to 9" and here the o»nraw mMy>7 are like 2wWyna MRYW MY since he is AW 7M1 270 (see 1"7 "wA
397)?!
3 7"9 meant that if he was %¥12 the 1" and then set aside a owX 7277 for this 7%°2 and before he was 2°pn this awx he
was 712 her again, he is 21 another owx for the second nx"3, and the same applies for the third, etc. However 7"
did not mean that the 0»naw My>7> are Mp?n and certainly not the D wyni %3 NRW M7,
6 X9 maintains that according to the 72nn2a 7y> *va X% X7 WX "7, if he became aware %°2% X2 73, he is still
211 only one awR. However if there was a nw1977 between each 1X°2, he is 217 for each nX*2 separately (even if we
maintain 7v°7° *v2 X% owRX). See the X3 and the (7°pnn 17"7) "0 previously. See ‘Thinking it over’.
7 The final version of s'7" ruling is that he is NWX 77 270 if he was w>9n them 78°2% 78°2 173, provided we maintain
that 7mn2 7v°7° °¥a X7 owR (but not if we maintain 777> *v2 X7 X7 QWK).
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Indicating that however according to the one who does not require 75102 Y975,
he is not NwR '71 21 (according to 7"), because according to that 7"n, the case of

TR"MY X% P2 7wnon is the same as a 2MWYRT B2 MRY WNDT which is not npbmn
(according to 2" and perhaps even according to >")%. However X7 maintains that by nwaon
001’2 he is MWK 771 20 even if we maintain 7Y°7° *Ya XY QWK —

In summation according to the " there is a nP172nn between X7 and *»°7 27 (according to the 7"»
that 7v>7> *ya X2 °RT) awWR, whether the 2°°n1°2 Mw"977 are Mp2mna (X7W), or not (A7 27).

Moo responds to an anticipated difficulty:
= 107Y991 INNDT NYYN N9 NIV 923 9517 991197 297 Y30 DY NNy PN)

And one should not question the logic of 7'"9 that &2 X2 Paw NMwno: are not
mponn, for we also find that a 79w j27p is nason for transgressing a @Y NN
even if it took place after the 77y was set aside —

Mmoo questions the validity of this comparison and responds:
= VIYOIN DY (%) 91 DINATT NNP PI93 XYM NIYAT 22 DY 9N

Even though this is a query in the first P92 of 2’72y ndon and it was not

resolved whether an 791 is n79on for a AW X7 IWY; it was not resolved -
= 2891 NnYya NINT LININON 992 ©7VYN 9 N1y

Because the X9%» at the end of the X°x® there rejected the resolution to this

query that it is N792n, nevertheless it was merely a rejection, but it does not mean that
the resolution does not stand.

mooin offers an alternate explanation why there is a query regarding a mw57 KRS 7793: 13

8 See previous 7pnn "7 'o1n [TIE see (text by) footnote # 11].
% We found that both X9 and X2»7 27 accepted axiomatically that 7X°2% 7%°2 Paw NWA97 are MP?ma even if we
maintains 77102 7Y°7° Y2 X2 oWR (see footnote # 8), how can 7" maintains differently?!
10 One 79 1277 can be 793n for transgressing many different 7wy n¥n. So for instance if he was w™5n an 77w for
not reading the v»w and before he brought it on the n2mm he wore a 732 without n°¥°¥; the 79w can be 7931 on both,
even though the w157 took place before transgressing the second fwy. So similarly here the owk can be 7951 on the
%3, which took place after the w91, but before the 127pn.
' See there X,1. The X3 proved from the fact that 77> '3 posed a query whether the 79 can be 7931 for an 7wy
even after Tunw. We can infer that it can be 92» for an nwy after nw1dn (which precedes v nw). The X7na rejected
this proof saying that perhaps “n&p 2"nk 17> ' (that if we will assume that 9931 nwa97 x> will it also be 1997
after mv°nw), but not that he was certain that 1931 w197 INK>.
12 mooIn maintains that the rejection to the resolution that 721 is AwWA97 MRST WYX 11951 was not that convincing.
The rejection of "Rp "nK' is mere speculation. Therefore we can accept the resolution that nX>7 nwy H¥ N9 79w
i7abhi
13 We are assuming now that 7" maintains that by n"w awX it is 992% even for a AwIDT NR?W %2 (so why did the
R in 127 pose a query [according to 7"7]).
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= Y9N INNRT N9AYN 9991 )29 PRT NN 9INRT NIYT NIIYN '¥a 0NN ) ON
Or you may also say; the X3 there is posing the query according to 87w who
maintains here that a 3299 cannot be 2522 for an 77°2y which takes place =nN®

WD, so the X3 queries that -
= 19991 NN P17 NDIY N

Perhaps an 7791, which is a gift'* can be =225% even after 7w 977; however according to
7"9 there is no question that an 719 can be 9951 after 7w 57 just as an "W AWK can be MR 7971
nwnon if we maintain 79102 77 Y2 R? QWK —

A final explanation why the "°7 there is merely a Xnbya »po7: 1
= N£929 IN NIWNHD NIN 0INIMNINN 292710 ONN VIVAY NI PN ) ON

Or you may also say; the X723 there did not want to resolve the query from the

words of the 2’871, but rather from a 71w» or a X193, therefore they rejected the

proof from 727 "7 with a flimsy argument -
= [(3,75 97 ©91) 1797991 12 PPN] 7992 )NSYNTI

As we find in 971577 192 1K P95.

mooIN presents a dissenting view:
= 3PPy MY NPT KYAT INPY LPIT RNT Y9N DNHYIN 12 PYNY 122

And the R'"23w9 explained the reason 7"7 mentioned, ‘according to the one who

requires 7¥°7%, he will be MWK '72°1°, he mentioned it for its novelty -
- IYI9D INNRYT NYUPNA KON DNN 93 5Y WIPY ¥ 299050 XY 0115 199N

That even according to this 7"», ' would not hold him liable for each nx°2,

unless it was a X2 wyn after w997, but not for Dwyna 3 NRW Mwo7 -
NDIYN 9)0ha N

4 An 177w is brought voluntarily (there is no obligation to bring an 77 for transgressing an wy), and also one 79w
can be 7951 for many different 7wy, so perhaps it can also be 195 for an w997 NROW "Wy,
15 Alternately, why (according to 7"9) is there a query whether an 791 can be n79o» for an w197 NRW WY (see
footnote # 13).
16 See footnote # 11 that the proof was from the 7°»7 '77 ®°va who is an XX, [Similarly (see footnote # 15) "°7 27
was also an X7K. ]
17 The ®m3 queried there, whether o°1712 are R1an77 "MW or 17°7 >Mw. The X713 chose not to resolve this query based
on the ruling of X177 27 (see R,u> XM 2,30 PWITR) that 2372 are X117 MW, since 7"7 is an XX and they would
rather resolve it from a mwn or a XN»72. See the 1" there in X°¥2X 7"7 072,
18 9" had no intention that we should infer from his statement that he is nXun 7 20, by a 2°nr2 7w only if we
maintain 77102 7Y°7° *v2 owWR (as mentioned previously [see footnote # 7]), but rather 7" agrees that according to
everyone (even the 7"» that 7v°7° "va X7 awx), the rule is 2>»n1a nwon is nPPnn. The only reason he mentioned the
TY°7 %va owR 7'y, is to inform us that even according to him, a 7w1o7 will be npomn only 8*2% AR°2 172, but not a
D°WynI NR? 7w (and not a 0»n1a Y7 either), according to 7M.
1 We no longer need to say that 7"7 maintains according to the Av>7> >va X? 7"n that 0»nr2a 7w197 is not NpHMy,
which, as NdOIN said is a N 27.
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So 7" is not disagreeing with X9, rather 7" also agrees that according to everyone, a
0N WIS is NpSIA.

SUMMARY

We can either maintain ('01n) that there is a view that even 20n12 w197 is not
nponn (somewhat similar to an 19W), or (the X"awM) that everyone agrees that
Q»N1°2 JWID: is NP,

THINKING IT OVER

1. How can M50 maintain that there is a dispute between 87w and 7"9 (according
to the 7"» that 7¥°7° °¥2 XY X7 oWK), whether the 7821 X2 Paw nwHon, are Mponn
(the view of X?7W) or not (the view of 7"),2° when the X3 shortly states; 071 927
K111 2770 NARY AR 22 HY 2°107 79170 719w, meaning that by 0 n1aw nwnon they
are Mpnn (and there is no npYonn)?!?!

2. Why does n1901n not accept the interpretation of the X"aw"; it seems to solve the
%N on 7K 277!

20 See footnote # 6.
21 See w"KA7 MdOIN.
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